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A. 3x—6=x B. 2x—-3y=xy C. x*-1=0 D. x=2y

2. CFn U —R T A24x-3y=3, F2 x0Ty H( )

g2 _4 B o= AW D, =¥ g
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3. THIEH EAZ( )
A, (—2x%)3=84° B. —x(x+1)=—x"—x
C. (x+y)2=x+y? D. (=x+2y)(—x—2y)=4y?—x?

4. TR EBIEZGTR, & T H X5 a0 &( )
A, (x+2)(x—2)=x*—4 B. x2—4+3x=(x+2)(x—2)+3x
C. x*+dxy—x=x(x+4y) D. a*-1=(a+1)(a-1)

A, 16x2+1 24 2x—1 C. x2—x+% D. a?4+2ab-4b>
6. do FExl—bx+9=(x—3)%, Wbe9{EHAH( )

A, =3 B. 3 C. 6 D. -6
7. 7 H20202-2019X 2021694 F = ( )

A —1 B. 0 C. 1 D. =2
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30x+15y=8 30x+15y=1935
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9. B X4HfE: 2a%-2=

10. a4 4410 )=

2a+b=2

11. C4ra. bR FTAEA {
a+2b=4

. Wa—bagia 7

12. Ex24x+m=(x=2)(x+n) a8 R 2, Wm=
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15. A
(Da(a—-2)—(a+1)(a—1);

(2)@)* « (-2x%y7).

16. B X5 :
(1)3a(x+y)-2(y+x);
(2)4::*.723/— Sxy+4y.
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0 2+y=50) RS BRI
{x—y:l@) ,
x+4y=14D
2) ) x-3 y-3 1
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18. &AL, FHRAE: (2x+3)(2x-3)-dx(x—1)+(x-2)%, H Px=-2.

19. &% 5R Fm. nitLm+n=-2, mn=-3.
(1)K (m-2)(n-2)8915 ;
(2)Em2+n? 0414
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22. &ANFnil, T — N EERAR T AT XA x=mXn(m. nZEE %, H
m<n), Ex0IPTHZXASBEF, 2oXm,. nAEARKZ Z09L3{E 5], KA X nAx

W ARSI, FAL: flo)=—.
I

P4 187 VAR I X 18, 2X9=:%3X6, HAH18-1>9-2>6-3, FTVA3X 621887 1E

3 1
R, PTVA(18)=—=—.
i, PITVASA(18) -

(1)3E = : f12)= — s f(16)= :

2)— AL E 2 i (1=10a+b, 1<a<b<\9, a. bA EFEH), XFEENTZ LK FE5 T
LR FAF R BOREREPTIF £ 45, KB AR B, KA 5

3/4



2.

4/ 4



http://www.tcpdf.org

